BEIDEAWD A

B ECEIIREIIIEFEANEILL),

@ lkg 50g = g
@ 5090kg = t kg
@ 30t = kg

@ |kg 450g = g
® Ikg 200g = g
® 7t400kg = kg
@ 19300kg = t kg
2kg 770g = g
@ 60000kg = t
760000g = kg
@ 30kg = g

@ 4t = kg

/24

® 1160kg = t kg
@ 130000g = kg
(® 80300kg = t kg
9kg 59 = g

@ 12000g = kg

| 100g = kg g
3t270kg = kg
@ 70t200kg = kg
@ 1t650kg = kg
@ 150kg = g

@ 105000kg = t
@ 5620 g = kg g
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B ECEIIREIIIEFEANEILL),

@® lkg50g = 1050 g @ 1160kg = | t 160 kg
®5090kg = 5 t 90 kg @ 130000g = 130 kg
® 30t =| 30000 kg ® 80300kg = 80 t 300 kg
@ Ikg 4509 = | 1450 g dkg 5g =| 9005 g

® Ikg 200g = 1200 g @ 12000g = | 2 kg

® 7t400kg =| 7400 kg 1100g = | kg 100 g
@ 19300kg = | 19 t 300 kg 3t270kg =| 3270 kg
2kg 770g = 2770 g @ 70t200kg =| 70200 kg
@ 60000kg = 60 t @ 1t650kg =| 1650 kg
@© 760000g = 760 kg @ 150kg =| 150000 g

@ 30kg = 30000 g @ 105000kg = 105t

@ 4t =| 4000 kg @ 5620g = | 5 kg 620 g




